Subject: PCOMP calculation of a 3 x 11.000.000 array possible?
Posted by Thomas Nehls on Sun, 18 Apr 2004 09:57:52 GMT

View Forum Message <> Reply to Message

Hi,

as a very unexperienced user of IDL and programming in general in
general | want to ask a theoretical question:

Is it possible to calculate an array having 3 columns and 11 millions of
rows?

For a calculation | need this dataset... Do you have any idea how long
the calculation of the PCOMP-function would take?

Thanks in advance

Tom
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